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FOM 10 — Polynomial Unit Test **

/29
- Show all of your work. Circle your final answers -

1. Expand: (1 mark)
6x%y3(4x3 — 3xy + 2x*y?)

5 .3 3 b &
24\(3 “%‘ﬂ‘j 412 X Y

2. Expand and simplify: (2 marks)

(Bx = 5y)(3x + 5y)
Ax*-18xYy r15xy ~25y?
Ax* 2542

3. Expand: (2 marks)
(—2x2y)(=3xy®)(2x°y® — 3x2y)
bxgg” (2x%y? - 3x?y)
l 1x§'37 -\ 7(5\35

4. Expand and simplify: (3 marks)

(2x — 5)2
(2Zx-5X 1% -58)
4x*-10x-10x +25
Hx* -20x+25



Name:

Block:

5. Expand and simplify: (2 marks)

(p +4)(2p* — 6p — 3)
2p% - bPpT - 3P t8p*-24p ~12
29> 42p%-27p - 12

6. Factor completely: (1 mark)
16p®q> — 4p°q° + 12p3q°
32 3 5 _ 3.2 3
Hp*q? (Hp®-p3q* 424%)

7. Factor completely: (2 marks)

—6x3 — 12x% + 48x
~bx(x*+2% -
—bX(X‘I'H\Cx—L) =1

8. Factor completely: (2 marks)
4x?% — 49

Crx=-"D(1x + ’7)



Name:

Block:
9. Factor completely: (3 marks)
v — \ -~ = (O
3x2 —5x —2 Xl = =
~( L_ Eal
2xt ~bx+ X -2 —
2x (X —2)+1(x-1)
(2x+15(x =~
10. Factor completely: (2 marks)
—20x + 2x2% + 48
Ix*-20v x4y
2(¥? -10%x + 2L4)
2 (x ==Dx - L)
11. Factor completely: (3 marks)
2 4 _
6x° 4+ 15x — 9 wonot = b
3(9-)<7'+6X"3) * &7 = 5

2(LxZ+bx —Ix -3
3(2x(x+3) “1{x+2)) = 2 (x+3D(1x ~1)

12. Factor completely: (3 marks)
2x* — 32y*
2 (xM=Tby")
2 (xXF =4y xt+ Hy?)
2 ( X =2 \jxx"" A 33 (, \ﬂl"' L’ffﬁm more page © 2



Name:
Block:

(3 marks)

13. Factor completély:
8x% +8x+2

2 (Hx*+ Uy )

2 (HY 4 Lx + x+0)
2 (2Lx (2s<443—u(1x4—l)>

2 (2x+ 1Y Tx+1)
2 (Lx+1)*?
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BONUS QUESTION — 1 mark
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Factor completely:
6x* — 57x% + 27 “V\Ex ) =
s, -t =

2(2x " = 19x =+ ) o
= (Lx" - IS %2 - X2 +9)
o 2x* (x2-Q) -1(x2-1))

> (2xT - -9)
3 (- XX +3X(x~3)



